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Definition 1 We define c 2Emin_2E_40 to be \AAP € 24.if (32 € A.p (ap P x)) then (the (\z.x € AAp
of type t=-t.

Definition 2 We define c.2Emin_2E_3D to be AA.\x € A y € A.inj_o (z =vy)
of type t=>t.

Definition 3 We define c 2Ebool 2ET to be (ap (ap (c_2Emin 2E_3D (22)) (A\V 0z € 2.V0z)) (A\V1z € 2.V

Definition 4 We define ¢ 2Ecombin_2ES to be \A_27a : t \AA2Tb : LAA2Tc : L.AVOSf € ((A27cA-2T0) 4T

Definition 5 We define c_2Ecombin_2EK to be A\A_27a : t.NA27b : 1.(AVO0z € A27a.(A\V1y € A27b.V0x))
Definition 6 We define c_2Ecombin 2E| to be AA_27a : 1.(ap (ap (c_2Ecombin 2ES A 27a (A_27a”-27") A_
Definition 7 We define c_22Ebool 2E 21 to be N\A_27a : t.(A\VOP € (24-27%) (ap (ap (c_2Emin_2E_3D (24-27
Definition 8 We define c_22Ecombin_2Eo to be AA_27a : t.NA_2Tb : L NA27c : 1. AVOf € (A,27bA*27C).)\Vlg
Definition 9 We define c_2Ebool 2EF to be (ap (c_2Ebool 2E_21 2) (AV 0t € 2.V 0t)).

Definition 10 We define c 2Emin_2E_3D_3D_3E to be AP € 2.\Q € 2.inj_-o (p P=p Q)
of type t.

Definition 11 We define c 2Ebool 2E_2F 5C to be (A\V0t1 € 2.(A\V'1t2 € 2.(ap (c_2Ebool 2E_21 2) (AV2t €
Definition 12 We define c_2Ebool 2ECOND to be NA_27a : t.(AVOt € 2.(AV1tl € A 27a.(A\V2t2 € A27a.(
Let ty 2Fextreal 2FEextreal : ¢ be given. Assume the following.

nonempty ty_2FEextreal _2FEextreal (1)
Let ty 2Erealax_2Ereal : 1 be given. Assume the following.

nonempty ty_2Erealax_2Ereal (2)



Let c.2Fextreal 2ENormal : ¢ be given. Assume the following.
c2Eextreal 2ENormal € (ty_2Fextreal 2EextrealV-2Frector-2Erealy 3y
Let ty_2Fhreal 2Fhreal : 1 be given. Assume the following.
nonempty ty_2Ehreal_2Ehreal (4)
Let ty_2FEpair 2Eprod : t1=>1=>1 be given. Assume the following.

VAO.nonempty A0=VAl.nonempty Al=nonempty (ty-2Epair_2Eprod
A0 A1)
(5)
Let c.2Erealax 2Ereal __REP__CLASS : ¢ be given. Assume the following.

c2Erealax 2Ereal_REP_CLASS € ((2(tv-2Fpair 2Bprod ty 2Ehreal 2Bhreal ty 2Ehreal 2Bhreal)yty 2Brealaz
(6)
Definition 13 We define c_2Erealax_2Ereal __REP to be AV 0a € ty_2FErealaxz_2Ereal.(ap (c2Emin_2E_40 (¢
Let c.2Erealax_2Etreal__It : « be given. Assume the following.

c2FErealax_2Etreal__lt € ((2(ty,2Epai7",2Eprod ty_2Ehreal_2Ehreal ty,QE’hTealehreal))(ty,QEpair,QEprod ty_2Ehi
(7)
Definition 14 We define c_2Erealax_2Ereal__It to be AVOT1 € ty 2Erealax 2Ereal A\V1T2 € ty 2Erealax-

Definition 15 We define c_2Ebool 2E_3F to be AA 27a : 1. (AVOP € (24-27%).(ap VOP (ap (c_2Emin_2E_40
Definition 16 We define c 2Ereal 2Esup to be \VOP € (2ty-2Erealaz-2Ereal) (qp (¢ 2Emin_2E_40 ty_2Ereal
Let c2Fextreal 2ENegInf : ¢ be given. Assume the following.

c2Fextreal 2ENegInf € ty 2Fextreal 2Eextreal (8)
Let c2Fextreal 2EPosInf : « be given. Assume the following.

c2Fextreal 2EPosInf € ty 2FEextreal 2Eextreal 9)
Let c.2Fextreal 2Eextreal__le : 1 be given. Assume the following.

c2Fextreal 2Eextreal_le € ((2ty,2Eextreal,2Eeztreal)ty,2Eemtreal,2Eeztreal)
(10)

Definition 17 We define c_2Eextreal 2Eextreal__sup to be \V0p € (2tv-2Fevtreal 2Bextrealy (g4, (ap (ap (c 2k

Definition 18 We define c_2Eextreal 2Eextreal__max to be \V 0z € ty_2FEextreal 2FEextreal A\V1y € ty_ 2E



Let ty 2Enum_2Enum : ¢ be given. Assume the following.
nonempty ty_2Enum_2Enum (11)
Let c.2FElebesgue_2Emax__fn__seq : 1= be given. Assume the following.

VA 2Ta.nonempty A_27a=-c_2Elebesque 2Emax__fn__seq A27a €
(((ty72Eemtrea172Ee$trealA,27(1)ty,ZEnum,ZEnum)((ty,QEewtreal,ZEe:ctrealA*27“)ty’zE"um’zE"um)

Let c2Enum 2EREP__num : 1 be given. Assume the following. -
c2Enum_2EREP_num € (omegat¥-2Enum-2Enum) (13)

Let c2Enum 2ESUC__REP : 1 be given. Assume the following.
¢ 2Enum 2ESUC__REP € (omega®™9%) (14)

Let c2Enum 2EABS__num : ¢ be given. Assume the following.
c2Enum 2EABS__num € (ty-2Enum_2Enum’™9%) (15)

Definition 19 We define c 2Enum_2ESUC to be \VOm € ty 2Enum_2Enum.(ap c22Enum_2EABS__num
Let c2Enum 2EZFERO__REP : 1 be given. Assume the following.

c2Enum 2EZERO__REP € omega (16)
Definition 20 We define c_2Enum_2EQ to be (ap c.2Enum_2EABS_num c2Enum 2EZERO__REP).
Definition 21 We define c_2Epred__set 2EUNIV to be AA_27a : +.(A\V0x € A_27a.c_2Ebool 2ET).
Definition 22 We define c 2Ebool 2EIN to be AA27a : 1. (A\VO0z € A 27a.(A\V1f € (24-27%).(ap V1f VOx)
Let c2Epair 2EABS __prod : 1=>1=>1 be given. Assume the following.

VA 2Ta.nonempty A_27a=YA_27b.nonempty A_27b=c_2FEpair 2EABS __prod

A27a A27b € ((ty-2Epair 2Eprod A27a A727b)((2A727b)A,27a))
(1)

Definition 23 We define c_2Epair 2E_2C to be AA27a : t.AA2Tb : 1. AVO0zx € A27a.\V1y € A27b.(ap (c-2
Let ¢ 2Epred__set 2EGSPEC : 1=>1=>1 be given. Assume the following.

VA 2Ta.nonempty A27a=YA_27b.nonempty A_27b=c2FEpred__set 2EGSPEC
A927a A27b € ((2147270,)((ty,2EpaiT,2Eprod A_27a 2)A*27b))

(18)
Definition 24 We define c_2Epred__set 2EIMAGE to be AA_27a : 1t.AA27b : LAVOf € (A27b"-27) A\V1s €

Definition 25 We define c 2Ebool 2E 5C_2F to be (A\V0t1 € 2.(A\V'1t2 € 2.(ap (c_2Ebool 2E_21 2) (AV2t €



Definition 26 We define c_2Ebool 2E_TE to be (A\V 0t € 2.(ap (ap c-2Emin_2E_3D_3D_3E V0t) c_2Ebool_2E

Assume the following.
True (19)

Assume the following.

(YVOtL € 2.(¥V 12 € 2.(((p VOtL)=(p V1£2))=(((p

V12)= (p VOIL)=((p VOIL)&(p V12))))) (20)

Assume the following.
(VVOt € 2.(False=(p VO0t))) (21)

Assume the following.
(VVot € 2.((p VOr)V(=(p VOL)))) (22)

Assume the following.
VA 27a.nonempty A27a=(VVO0t € 2.((VV1x € (23)

A27a.(p VOt))=(p VOL)))
Assume the following.

(VVOt € 2.(((TrueA(p VOt))(p VO)A((((p VO) AT rue)<
(p VOO)A(((Falsen(p VOt))=False)A((((p VOt)AFalse)< False)A  (24)
(((p VOO)A(p VOL))=(p V01)))))))

Assume the following.

(VVOt € 2.(((True=(p VOt))=(p VOt))A(((p VOt)=>True)&s
True)A((False=(p VOt))=True) AN((((p VOt)=(p VOt))=True)A(( (25)
(p VOt)=False)=(=(p V01))))))))

Assume the following.

((VVOt € 2.((=(=(p VO1)))=(p VO)))A(((—True)<False) A

((mFalse)=True))) (26)

Assume the following.
VA 27a.nonempty A27a=(VV0x € A27a.(VOz = V0z)) (27)

Assume the following.

VA 27a.nonempty A 27a=VV0x € A27a.(V0x = V0z)&

True)) (28)

Assume the following.
VA 2Ta.nonempty A27a=(VV0x € A27a.(VV1y € (29

A27a.(V0x = Viy)e(Viy = V0x))))



Assume the following.

VA_27a.nonempty A_27a=VA_27b.nonempty A_27b=(
YVOf € (A2764-270) (YV1g € (A2764-270) . ((VOf = (30)
Vig)e(VV2zx € A27a.((ap VOf V2z) = (ap V1g V2z2))))))

Assume the following.

(VVOt € 2.(((Trues(p VOr))e(p VO))A(((p VOt)&True)s
(p VOOIN(((Falses(p VOt))<(—(p VOO))A(((p VOt)=False)=(—=(  (31)

pV01))))))

Assume the following.

VA 27a.nonempty A27a=(VV0tl € A27a.(VV1t2 €
A27a.(((ap (ap (ap (c-2Ebool_2ECOND A_27a) c_2Ebool 2ET) V0t1)
V1t2) = VOt1)A((ap (ap (ap (c_2Ebool 2ECOND A_27a) c_2Ebool 2EF)
VOtl) V1e2) = V1t2))))

(32)
Assume the following.
VA 27a.nonempty A 27a=(YVOP € (24-27%).(VV1Q €
(24-27a) ((YV2z € A27a.((p (ap VOP V2z))A(p (ap V1Q V2z))))& (33)

(VV3x € A27a.(p (ap VOP V3z)))A(VV4x € A27a.(p (
ap V1Q V4x)))))))

Assume the following.

VA 27a.nonempty A 27a=(YVOP € (24-279) (VV1Q €
2.((VV2zx € A27a.(p (ap VOP V2z)))A(p V1Q))=(VV3zx € (34)
A27a.((p (ap VOP V3z))A(p V1Q))))))

Assume the following.

VA_27a.nonempty A 27a=(VYVOP € 2.(WV1Q € (
24-27a) (((p VOP)A(VV 2z € A27a.(p (ap V1Q V2x))))=(VV3z e (35)
A27a.((p VOP)A(p (ap V1Q V32)))))))

Assume the following.

VA_27a.nonempty A27a=(VV0Q € 2.(WVV1P € (
24-27a) ((YV2z € A 27a.((p (ap V1P V2z))V(p VOQ)))=((VV3r € (36)
A27a.(p (ap V1P V3x)))V(p V0Q)))))

Assume the following.

VA 27a.nonempty A27a=(VVOP € 2.(vV1Q € (
24-27a) (VW 2z € A27a.((p VOP)V(p (ap V1Q V2x))))=((p (37)
VOP)V(VYV3z € A27a.(p (ap V1Q V3z)))))))



Assume the following.

(VWO0A € 2.(VV1B € 2.(¥V2C € 2.(((p VOA)V(

(b VIB)A(p V2C))=(((p VOAWV(p VIB)A((p VOANV(p V2O)))) )
Assume the following.
(VWWO0A € 2.(VV1B € 2.(vW2C € 2.((((p VIB)A (39)
(b V2O)V(p VOA))&(((p VIB)V(p VOA)A((p V2O (p VOA))))))
Assume the following.
(VVOtL € 2.(VV1t2 € 2.(VV2t3 € 2.(((p VOt1)= (40)

((p V1t2)=(p V2t3)))=(((p VOtL)A(p V112))=(p V213))))))
Assume the following.

(VV0z € 2.(vV 1z 27 € 2.(VV2y € 2.(VV3y27 €
2.((((p VOz)=(p V12 27))A((p V1z2T)=((p V2y)=(p V3y-27))))= (41)
(((p VOz)=(p V2y))&((p V1z27)=(p V3y-27))))))))

Assume the following.

VA_27a.nonempty A27a=(VV0x € A27a.((ap (c_2Ecombin_2El (42)
A27a) VOz) = V0x))

Assume the following.

VA_27a.nonempty A_27a=VA_27b.nonempty A_27b=(
YVOf € (A2764-27%) . (((ap (ap (c2Ecombin_2Eo A_27a A_27b
A_27b) (c_2Ecombin_2El A_27b)) VOf) = VOf)A((ap (ap (c.2Ecombin_2Eo
A27a A27b A27a) VOf) (c.2Ecombin_2El A_27a)) = VO0f)))
(43)
Assume the following.

(VVO0z € ty_2Eextreal 2Eextreal.(p (ap (ap c2Eextreal 2Eextreal _le
Vox) VO0zx)))
(44)
Assume the following.

(VVO0zx € ty_2Fextreal 2Fextreal (VV 1y € ty_2Eextreal 2Fextreal.
(((p (ap (ap c2FEextreal 2Eextreal_le VOz) V1y))A(p (ap (ap c.2Eextreal 2FEextreal__le
Viy) VOx)))e(Vox = Viy))))
(45)
Assume the following.

(VVOp € (2tv-2Pextreal 2Bextrealy (¢ 1y € ty 2Eextreal 2Eextreal.
((p (ap VOp V1x))=(p (ap (ap c2Eextreal 2Eextreal_le V1x) (ap  (46)
c_2Eextreal 2Eextreal__sup V0p))))))



Assume the following.

(YVOp € (2ty-2Beatreal 2Bextreal) 7\ 1y € ty 2Fextreal 2Fextreal.
((p (ap (ap c2Eextreal 2Fextreal_le (ap c_2Eextreal 2Eextreal__sup
VOp)) Viz))=(VV2y € ty 2Fextreal 2Eextreal.((p (ap VOp
V2y))=(p (ap (ap c2Eextreal 2Eextreal_le V2y) V1z)))))))

(47)

Assume the following.

(vvop c (2ty,2Eeztreal,2E'e:rtreal).(vvlq c (Zty,ZEeztreal,ZEextreal).

((VV2z € ty2Fextreal 2Eextreal .((p (ap VOp V2z))=(3V3y €
ty_2Fextreal 2FEextreal.((p (ap V1q V3y))A(p (ap (ap c2Eextreal 2Eextreal _le
V2x) V3y))))))=(p (ap (ap c2Fextreal 2FEextreal_le (ap c_2Eextreal 2Eextreal__sup

VO0p)) (ap c_2Eextreal 2Eextreal_sup V'1q))))))
(48)
Assume the following.

(VVO0x € ty 2Fextreal 2Fextreal.(VV 1y € ty 2Eextreal 2Fextreal.
(p (ap (ap c2Fextreal 2Fextreal_le V1y) (ap (ap c_2Eextreal 2Eextreal__max
Vor) Viy))))
(19)
Assume the following.

VA 27a.nonempty A27a=(YVOP € (2tv-2Pevtreal-2Bextreal)
<VV1P,27 c (2(ty,QEea:treal,QEea;tT'ealA*27a)).(Vv2f c
(ty,2Eextreal,2Eextreal(ty*ZEeme“l*QE““’Q‘”AJM)).
(((3V3z € ty_2Fextreal 2Eextreal.(p (ap VOP V3x)))A((FV4z €
ty_2Fextreal 2Fextreal.((—(V4z = c2Fextreal 2EPosInf))A(
VVbx € ty_2FEextreal 2Eextreal.((p (ap VOP V5z))=(p (ap (
ap c2Fextreal 2Fextreal_le V5x) V4z2))))))A(VOP = (ap (ap (c-2Epred__set 2EIMAGE
(ty2Eextreal 2Eextreal*-2") ty_2Fextreal 2Eextreal) V2f)
V1P_27))))=(3Vég € ((ty2Eextreal 2FextrealA-27)ty-2Enum 2Enum)
(VV7n € ty 2Enum_2Enum.(p (ap (ap (c_2Ebool 2EIN (ty_2Fextreal 2Fextreal*-27%))
(ap Vbg V7n)) V1P27)))A((ap c-2Eextreal 2Eextreal__sup (ap (
ap (c_2Epred__set_2EIMAGE ty_2FEnum_2Enum ty_2Fextreal 2FEextreal)
(AV8n € ty2Enum_2Enum.(ap V2f (ap V6g V8n)))) (c_2Epred__set 2EUNIV
ty_2Enum_2Enum))) = (ap c_2Eextreal 2Eextreal__sup VOP))))))))
(50)
Assume the following.

VA_27a.nonempty A27a=((¥V0g € ((ty2Eextreal 2Eextreal-27®)ty-2Enum 2Enum)
(VWlz € A27a.((ap (ap (ap (c2Elebesgue 2Emax__fn__seq
A_27a) V0g) c.22Enum_2E0) V1z) = (ap (ap VOg c.2Enum_2E0) V1z))))A
(VV2g € ((ty2Eextreal 2EextrealA-27)ty-2Enum-2Enum)
(VV3n € ty_2Enum 2Enum.(VVixz € A 27a.((ap (ap (ap
(c-2Elebesgue 2Emaz__fn__seq A_27a) V2g) (ap c22Enum_2ESUC V3n))
Vdx) = (ap (ap c_2Eextreal 2Eextreal__max (ap (ap (ap (c2Elebesgue 2Emax__fn__seq
A27a) V2g) V3n) V4x)) (ap (ap V2g (ap c2Enum_2ESUC V3n)) V4z)))))))
(51)



Assume the following.

(VVOP € (2ty-2Enum-2Enum) (((p (ap VOP c_2Enum_2EQ))A
(VV1in € ty 2Enum_2Enum.((p (ap VOP V1n))=(p (ap VOP (ap c.2Enum_2ESUC
Vin))))))=(¥V2n € ty_2Enum_2Enum.(p (ap VOP V2n)))))
(52)
Assume the following.

VA 27a.nonempty A27a=(YVOP € (24-277).(VV1z €

A27a.((p (ap (ap (c.2Ebool 2EIN A_27a) V1x) VOP))<(p (ap VOP Vix)))))
(53)

Assume the following.
VA 27a.nonempty A_27a=(VV0x € A27a.(p (ap (ap (c_2Ebool 2EIN (54)

A_27a) VOz) (c_2Epred_set 2EUNIV A_27a))))
Assume the following.

Y A_27a.nonempty A27a=VA_27b.nonempty A_27b=(
YV 0y € A27b.(VV s € (24-270) (VW 2f € (A.27bA-2Ta),
((p (ap (ap (c2Ebool 2EIN A_27b) VOy) (ap (ap (c_2Epred__set 2EIMAGE
A27a A27b) V2f) V1s)))<(3V3x € A27a.(VOy = (ap V2f V3zx))A
(p (ap (ap (c2Ebool 2EIN A_27a) V3z) V1s))))))))

(55)

Assume the following.
(VVOt € 2.((=(—(p VOt)))=(p VOL))) (56)

Assume the following.
(VVO0A € 2.((p VOA)=((—(p VOA))=False))) (57)

Assume the following.

(VV0A € 2.(WV1B € 2.(((—((p VOA)V(p V1B)))=False)&

(((p VOA)=False)=((~(p V1B))=False))))) (58)

Assume the following.
(VV0A € 2.(WV1B € 2.(((=((—=(p VOA))V(p V1B)))=False)= (59)

((p VOA)=((=(p V1B))=False)))))
Assume the following.
(VVO0A € 2.(((=(p VOA))=False)=(((p VOA)=False)=False))) (60)

Assume the following.

(VVOp € 2.(VV1g € 2.(VV2r € 2.(((p VOp)=(
(p V1g)e(p V2r)))e(((p VOp)V((p V1ig)V (

p V2r))V(=(p V1g) )A(((p V1V ((=(p V2r
((=(p V1g))V(=(p VOp))



Assume the following.

(VVOp € 2.(VW1qg € 2.(VV2r € 2.(((p VOp)=(
r)))))A(((p Vig)v

(p V1igA(p V2r)))=(((p VOop)V((=(p Vg

(=(p VOp)))A((p V2r)V(=(p V0p))))))))

Assume the following.

DV(=(p V2

(VVOp € 2.(VV1g € 2.(VV2r € 2.(((p VOp)<(

(p Vig)v(p V2r)))=(((p VOp)V(=(p V1g)))A(((p VOp)V(=(p V2r)))A

((p V1ig)V((p V2r)V(=(p VO0p))))))))))

Assume the following.

(VVOp € 2.(vV1g € 2.(¥V2r € 2.(((p VOp)
(p V1g)=(p V2r)))=(((p VOp)V(p V1g))A(((p VOp)V

< (
(=

(p V2r)A((

—(p V1ig)V((p V2r)V(=(p V0p))))))))))

Assume the following.

(VWOp € 2.(VV1g € 2.(((p VOp)=(=(p V1g)))=(((p VOp)V
(p V1g))A((=(p V1g))V(=(p VOp)))))))

Assume the following.
(VVOp € 2.(¥V1g € 2.((—((p VOp)=

Assume the following.

(p V1g)))=(p VOp))))

(YVOp € 2.(VV1g € 2.((~((p VOp)=(p V1q)))=(—(p V1g)))))

Assume the following.

(VVOp € 2.(¥V1g € 2.((—((p VOp)V(p
Assume the following.

(VVOp € 2.(WV1g € 2.((=((p VOp)V(p

Assume the following.

(VVOp € 2.((—=(=(p VOp)))=

V1g)))=(=(p VOp)))))

Vig)))=(=(p V1q)))))

(p VOp)))

(62)

(63)

(64)

(67)

(68)



Theorem 1

lA,27a)

VA_27a.nonempty A27a=(VVOf € (ty_2Eextreal 2Eextreal(ty-2Fevtreal 2Bextrea
(vv1p c (2ty,2Eeattreal,2Eemtreal).(VVQP727 c (

lA727a')).(((EIV3x € ty 2FEextreal 2Fextreal.
(p (ap V1P V3x)))A((IV4z € ty2Eextreal 2Eextreal .((—(
Vaz = c.2FEextreal 2EPosInf))\(VVbz € ty_2Eextreal 2Eextreal.
((p (ap V1P V5z))=(p (ap (ap c2FEextreal 2Fextreal_le V5x) V4z))))))A
(V1P = (ap (ap (c2Epred__set 2EIMAGE (ty_2Eextreal 2Eextreal-27®)
ty_2Eextreal 2Eextreal) VOf) V2P_27))A((VV6gl € (ty_2Eextreal 2Fextreal-27®).
(YV792 € (ty_2Eextreal 2Eextreal-2").(((p (ap (ap (c_2Ebool 2EIN
(ty_2Fextreal 2Fextreal*-7*)) V6g1) V2P_27))A((p (ap (ap (c-2Ebool 2EIN
(ty_2Eextreal 2Eextreal*-27%)) V7g2) V2P_27))A(VV8x €
A 27a.(p (ap (ap c2Eextreal 2Fextreal_le (ap V6gl V8x)) (ap VT7g2
V8zx))))))=(p (ap (ap c2Fextreal 2Eextreal_le (ap VOf V6gl))
(ap VOf VTg2))))A(VVIg1 € (ty 2Eextreal 2FEextreal*-277).
(VV10g2 € (ty_2Fextreal 2Eextreal*~*"*).(((p (ap (ap (
c_2Ebool 2EIN (ty_2Eextreal 2Eextreal-27)) V9g1) V2P _27))A
(p (ap (ap (c2Ebool 2EIN (ty_2Fextreal 2Fextreal-*7*)) V10g2)
V2P_27)))=(p (ap (ap (c.2Ebool 2EIN (ty_2Eextreal 2Eextreal*-*7%))
(AWV1lzx € A27a.(ap (ap c_2Eextreal 2Eextreal__max (ap V9g1
V1lz)) (ap V10g2 V1lz)))) V2P27))))))=(3V12g € ((ty_2Eextreal 2EextrealA-274)ty-2Enum-2Enun
((VV13n € ty2Enum_2Enum.(p (ap (ap (c.2Ebool 2EIN (ty_2Eextreal 2Eextreald-27))
(ap V12g V13n)) V2P 27)))A((VV 14z € A27a.(¥V15n €
ty-2Enum _2Enum.(p (ap (ap c2Eextreal 2Eextreal__le (ap (ap V12g
V15n) V1dx)) (ap (ap V12¢ (ap c.2Enum_2ESUC V'15n)) V14x)))))A((
ap c_2Eextreal_2Eextreal__sup (ap (ap (c_2Epred__set 2EIMAGE
ty 2Enum_2Enum ty_ 2Eextreal 2Eextreal) (AV16n € ty_2Enum_2Enum.
(ap VOf (ap V12g V16n)))) (c_2Epred__set 2EUNIV ty_2Enum_2Enum))) =
(ap c-2Eextreal 2Eextreal__sup V1P)))))))))

).

2(ty,2Eextreal,2Eeztrea
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